ITB No. 24-101669

Runway 3R-21L Keel Replacement at the PDK Airport



Procurement Agent: Jovan Hooper

Bid Opening: June 18, 2024

					C.W. MATTHEWS CONTRACTING CO., INC.		PRECISION 2000, INC.	
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
					BASE BID -	Runway 3R-21I		
1	C-100-1	CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	L. SUM	1	\$644,279.03	\$644,279.03	\$1,604,000.00	\$1,604,000.00
2	C-105-1	MOBILIZATION	L. SUM	1	\$890,534.32	\$890,534.32	\$500,000.00	\$500,000.00
3	C-105-2	ENGINEER'S FIELD COMPLEX	L. SUM	1	\$95,053.63	\$95,053.63	\$561,000.00	\$561,000.00
4	P-101-1	REMOVAL OF PORTLAND CEMENT CONCRETE PAVEMENT, INCLUDING BASE COURSE	SQ. YD.	39,915	\$9.97	\$397,952.55	\$22.00	\$878,130.00
5	P-101-2	JOINT AND CRACK REPAIR	LIN. FT.	13,200	\$4.75	\$62,700.00	\$11.00	\$145,200.00
6	P-101-3	REMOVAL OF FOREIGN SUBSTANCES/CONTAMINATES	SQ. FT.	128,350	\$0.56	\$71,876.00	\$0.23	\$29,520.50
7	P-152-1	UNCLASSIFFIED EXCAVATION	CU. YD.	9,015	\$26.85	\$242,052.75	\$24.50	\$220,867.50
8	P-152-2	SHOULDER GRADING	SQ. YD.	70	\$129.76	\$9,083.20	\$242.00	\$16,940.00
9	P-155-1	LIME – TREATED SUBGRADE REPAIR	SQ. YD.	20,030	\$26.82	\$537,204.60	\$43.50	\$871,305.00
10	P-219-1	RECYCLED CONCRETE AGGREGATE BASE COURSE	CU. YD.	8,900	\$92.79	\$825,831.00	\$62.50	\$556,250.00
11	P-501-1	NON-REINFORCED CONCRETE PAVEMENT, 11" THICK	SQ. YD.	39,500	\$102.17	\$4,035,715.00	\$121.00	\$4,779,500.00
12	P-501-2	REINFORCED CONCRETE PAVEMENT, 11" THICK	SQ. YD.	435	\$129.51	\$56,336.85	\$193.00	\$83,955.00
13	P-605-1	JOINT SEALANT, CONTRACTION, CONSTRUCTION, AND LONGITUDINAL JOINTS	LIN. FT.	63,185	\$2.79	\$176,286.15	\$5.70	\$360,154.50
14	P-605-2	JOINT SEALANT, EXPANSION JOINTS	LIN. FT.	485	\$3.63	\$1,760.55	\$8.10	\$3,928.50
15	P-605-3	JOINT SEALANT, ASPHALT-CONCRETE JOINT INTERFACE	LIN. FT.	55	\$3.07	\$168.85	\$8.50	\$467.50
16	P-605-4	COLD APPLIED SEALANT, IN-PAVEMENT LIGHT FIXTURES	EACH	15	\$50.28	\$754.20	\$54.50	\$817.50
17	P-620-1	MARKING REMOVAL AND SURFACE PREPARATION	SQ. FT.	91,580	\$1.12	\$102,569.60	\$1.10	\$100,738.00
18	P-620-2	PAVEMENT MARKING, YELLOW (TYPE III) WITH REFLECTIVE MEDIA (TYPE III BEADS), INCLUDING MICROBICIDE	SQ. FT.	4,425	\$1.96	\$8,673.00	\$1.30	\$5,752.50
19	P-620-3	PAVEMENT MARKING, WHITE (TYPE III) WITH REFLECTIVE MEDIA (TYPE III BEADS), INCLUDING MICROBICIDE	SQ. FT.	90,945	\$1.23	\$111,862.35	\$1.30	\$118,228.50
20	P-620-4	PAVEMENT MARKING, BLACK (TYPE III) NON- REFLECTIVE, INCLUDING MICROBICIDE	SQ.FT.	25,000	\$0.95	\$23,750.00	\$0.80	\$20,000.00
21	P-621-1	PAVEMENT GROOVING	SQ. YD.	38,490	\$5.38	\$207,076.20	\$3.60	\$138,564.00
22	GDOT-163-1	CONSTRUCT, MAINTAIN, AND REMOVE CONSTRUCTION EXIT/CONCRETE WASHOUT	EACH	2	\$15,586.05	\$31,172.10	\$7,840.00	\$15,680.00
23	GDOT-163-2	CONSTRUCT, MAINTAIN, AND REMOVE INLET SEDIMENT TRAP	EACH	2	\$8,928.73	\$17,857.46	\$401.00	\$802.00
24	GDOT-167-1	WATER QUALITY MONITORING AND SAMPLING	EACH	12	\$837.99	\$10,055.88	\$608.00	\$7,296.00
25	GDOT-167-2	WATER QUALITY INSPECTIONS	MONTH	3	\$670.39	\$2,011.17	\$608.00	\$1,824.00
26	GDOT-171-1	INSTALL AND MAINTAIN TEMPORARY SILT FENCE, TYPE A	LIN. FT.	1,300	\$4.19	\$5,447.00	\$4.00	\$5,200.00
27	T-901-1	PERMANENT SEEDING	ACRE	3.45	\$3,854.75	\$13,298.89	\$5,550.00	\$19,147.50
28	T-904-1	SODDING	SQ. YD.	1,150	\$13.41	\$15,421.50	\$26.50	\$30,475.00

Runway 3R-21L Keel Replacement at the PDK Airport

DeKalb County

Procurement Agent: Jovan Hooper

Bid Opening: June 18, 2024

					C.W. MATTHEWS CONTRACTING CO., INC.		PRECISION 2000, INC.	
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
29	T-905-1	TOPSOIL (OBTAINED ON SITE)	ACRE	1.5	\$21,441.78	\$32,162.67	\$5,530.00	\$8,295.00
30	T-905-2	TOPSOIL (FURNISHED FROM OFF SITE)	ACRE	2.35	\$34,415.03	\$80,875.32	\$39,800.00	\$93,530.00
31	T-908-1	MULCHING	SQ. YD.	5,550	\$0.31	\$1,720.50	\$0.20	\$1,110.00
32	L-108-5.1	NO. 6 AWG, SOLID, BARE COPPER COUNTERPOISE WIRE, INSTALLED IN TRENCH, ABOVE THE DUCT BANK OR CONDUIT, INCLUDING GROUND RODS AND CONNECTIONS/TERMINATIONS	LIN. FT.	25	\$2.93	\$73.25	\$3.00	\$75.00
33	L-108-5.2	NO. 1/0 AWG, COPPER GUARD WIRE, INSTALLED IN TRENCH, ABOVE THE DUCT BANK OR CONDUIT, INCLUDING GROUND RODS AND CONNECTIONS/ TERMINATIONS	LIN. FT.	1,375	\$5.87	\$8,071.25	\$6.10	\$8,387.50
34	L-110-5.1	CONCRETE-ENCASED ELECTRICAL CONDUIT, 1-WAY 2", SCHEDULE 40 PVC	LIN. FT.	25	\$23.46	\$586.50	\$24.50	\$612.50
35	L-110-5.2	CONCRETE-ENCASED ELECTRICAL CONDUIT, 1-WAY 2", GALVANIZED RIGID STEEL	LIN. FT.	1,375	\$49.27	\$67,746.25	\$51.00	\$70,125.00
36	L-125-5.1	RE-INSTALL L-850D IN-PAVEMENT HIGH INTENSITY RUNWAY DISPLACED THRESHOLD LIGHT WITH EXISTING TRANSFORMER ON NEW L-868D BASE IN NEW PAVEMENT, COMPLETE IN PLACE	EACH	3	\$8,622.91	\$25,868.73	\$8,930.00	\$26,790.00
37	L-125-5.3	RE-INSTALL IN-PAVEMENT MALSF THRESHOLD LIGHT BASE COVER PLATE ON NEW L- 868B BASE IN NEW PAVEMENT, COMPLETE IN PLACE	EACH	8	\$8,006.98	\$64,055.84	\$8,290.00	\$66,320.00
38	L-125-5.4	RE-INSTALL IN-PAVEMENT MALSF 5-LIGHT BAR STATION WITH FIVE (5) EXISTING MALSF LIGHTS AND FIVE (5) EXISTING TRANSFORMER ON FIVE (5) NEW L-868B BASES IN NEW PAVEMENT, COMPLETE IN PLACE	EACH	4	\$25,223.46	\$100,893.84	\$26,100.00	\$104,400.00
39	L-125-5.5	ADJUST EXISTING RUNWAY EDGE LIGHT, COMPLETE IN PLACE	EACH	6	\$2,346.37	\$14,078.22	\$2,430.00	\$14,580.00
	TOTAL BASE BID – RUNWAY 3R-21L:				\$8,992,916.20		\$11,469,968.50	

Runway 3R-21L Keel Replacement at the PDK Airport



Procurement Agent: Jovan Hooper

Bid Opening: June 18, 2024

					C.W. MATTHEWS CONTRACTING CO., INC.		PRECISION 2000, INC.	
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
					ADDITIVE	BID - Taxiway A	Alpha	
1	C-100-1	CONTRACTOR QUALITY CONTROL PROGRAM (CQCP)	L. SUM	1	\$264,378.49	\$264,378.49	\$954,000.00	\$954,000.00
2	C-105-1	MOBILIZATION	L. SUM	1	\$242,524.39	\$242,524.39	\$115,000.00	\$115,000.00
3	C-105-3	ENGINEER'S FIELD COMPLEX – ADDITIONAL TIME	L. SUM	1	\$8,379.89	\$8,379.89	\$81,400.00	\$81,400.00
4	P-101-1	REMOVAL OF PORTLAND CEMENT CONCRETE PAVEMENT, INCLUDING BASE COURSE	SQ. YD.	9,940	\$10.44	\$103,773.60	\$27.00	\$268,380.00
5	P-101-2	JOINT AND CRACK REPAIR	LIN. FT.	160	\$4.75	\$760.00	\$11.00	\$1,760.00
6	P-101-3	REMOVAL OF FOREIGN SUBSTANCES/CONTAMINATES	SQ. FT.	17,320	\$0.56	\$9,699.20	\$0.23	\$3,983.60
7	P-152-1	UNCLASSIFIED EXCAVATION	CU. YD.	1,595	\$45.84	\$73,114.80	\$58.00	\$92,510.00
8	P-152-2	SHOULDER GRADING	SQ. YD.	1,210	\$11.00	\$13,310.00	\$44.50	\$53,845.00
9	P-155-1	LIME-TREATED SUBGRADE <i>REPAIR</i>	SQ. YD.	3,585	\$36.26	\$129,992.10	\$43.50	\$155,947.50
10	P-219-1	RECYCLED CONCRETE AGGREGATE BASE COURSE	CU. YD.	2,210	\$99.53	\$219,961.30	\$76.00	\$167,960.00
11	P-501-1	NON-REINFORCED CONCRETE PAVEMENT, 11" THICK	SQ. YD.	8,005	\$121.44	\$972,127.20	\$135.00	\$1,080,675.00
12	P-501-2	REINFORCED CONCRETE PAVEMENT, 11" THICK	SQ. YD.	730	\$137.12	\$100,097.60	\$178.00	\$129,940.00
13	P-501-3	NON-REINFORCED THICKENED EDGE CONCRETE PAVEMENT, 11"- 14" THICK	SQ. YD.	1,125	\$144.57	\$162,641.25	\$152.00	\$171,000.00
14	P-501-4	REINFORCED THICKENED EDGE CONCRETE PAVEMENT, 11"-14" THICK	SQ. YD.	85	\$163.21	\$13,872.85	\$196.00	\$16,660.00
15	P-605-1	JOINT SEALANT, CONTRACTION, CONSTRUCTION, AND LONGITUDINAL JOINTS	LIN. FT.	12,550	\$2.79	\$35,014.50	\$5.70	\$71,535.00
16	P-605-2	JOINT SEALANT, EXPANSION JOINTS	LIN. FT.	840	\$3.63	\$3,049.20	\$8.10	\$6,804.00
17	P-605-3	JOINT SEALANT, ASPHALT- CONCRETE JOINT INTERFACE	LIN. FT.	75	\$3.07	\$230.25	\$8.50	\$637.50
18	P-605-4	COLD APPLIED SEALANT, IN- PAVEMENT LIGHT FIXTURES	EACH	5	\$50.28	\$251.40	\$54.50	\$272.50
19	P-620-1	MARKING REMOVAL AND SURFACE PREPARATION	SQ. FT.	1,740	\$4.47	\$7,777.80	\$1.10	\$1,914.00
20	P-620-2	PAVEMENT MARKING, YELLOW (TYPE III) WITH REFLECTIVE MEDIA (TYPE III BEADS), INCLUDING MICROBICIDE	SQ. FT.	2,205	\$4.47	\$9,856.35	\$1.30	\$2,866.50
21	P-620-3	PAVEMENT MARKING, WHITE (TYPE III) WITH REFLECTIVE MEDIA (TYPE III BEADS), INCLUDING MICROBICIDE	SQ. FT.	50	\$4.47	\$223.50	\$1.30	\$65.00
22	P-620-4	PAVEMENT MARKING, BLACK (TYPE III) NON- REFLECTIVE, INCLUDING MICROBICIDE	SQ. FT.	3,750	\$2.79	\$10,462.50	\$0.80	\$3,000.00
23	P-620-5	PAVEMENT MARKING, RED (TYPE III) WITH REFLECTIVE MEDIA (TYPE I BEADS), INCLUDING MICROBICIDE	SQ. FT.	250	\$7.82	\$1,955.00	\$6.10	\$1,525.00
24	T-904-1	SODDING	SQ. YD.	1,400	\$13.41	\$18,774.00	\$26.00	\$36,400.00

Runway 3R-21L Keel Replacement at the PDK Airport



Procurement Agent: Jovan Hooper

Bid Opening: June 18, 2024

				C.W. MATTHEWS CONTRACTING CO., INC.		PRECISION 2000, INC.			
ITEM NO.	SPEC NO.	ITEM DESCRIPTION	UNIT	UNIT NO.	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
25	L-108-5.1	NO. 6 AWG, SOLID, BARE COPPER COUNTERPOISE WIRE, INSTALLED IN TRENCH, ABOVE THE DUCT BANK OR CONDUIT, INCLUDING GROUND RODS AND CONNECTIONS/ TERMINATIONS	LIN. FT.	55	\$2.93	\$161.15	\$3.00	\$165.00	
26	1110-51	CONCRETE-ENCASED ELECTRICAL CONDUIT, 1-WAY 2", SCHEDULE 40 PVC	LIN. FT.	55	\$23.46	\$1,290.30	\$24.50	\$1,347.50	
27	L-125-5.2	RE-INSTALL L-852G IN- PAVEMENT RUNWAY GUARD LIGHT WITH EXISTING TRANSFORMER ON NEW L-868B BASE IN NEW PAVEMENT, COMPLETE IN PLACE	EACH	5	\$7,889.66	\$39,448.30	\$8,170.00	\$40,850.00	
	TOTAL ADDITIVE BID – Taxiway Alpha:				\$2,443,126.92		\$3,46	\$3,460,443.10	

TOTAL AMOUNT (Runway 3R-21L & Additive - Taxiway Alpha):	C.W. MATTHEWS CONTRACTING CO., INC.	PRECISION 2000, INC.	
TOTAL ANOUNT	\$11,436,043.12	\$14,930,411.60	

Witness Signature:		
Agent Signature:		